Manuals+ — User Manuals Simplified.

SOLAX POWER X3 Forth Solar Power Inverter Installation
Guide

Home » SOLAX POWER » SOLAX POWER X3 Forth Solar Power Inverter Installation Guide ™

Contents
1 SOLAX POWER X3 Forth Solar Power
Inverter
2 Packing list
3 Communication connection
4 Monitoring connection
5 Documents / Resources
5.1 References
6 Related Posts

4
£

SOLA

POWER

SOLAX POWER X3 Forth Solar Power Inverter


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/solax-power
https://manuals.plus/solax-power/x3-forth-solar-power-inverter-manual.pdf

Packing list

« For the optional accessories, please be subject to the actual delivery.
« Note: The allen key in the accessory box is used to remove the screws on the front cover of the inverter. Keep

it in a safe place.

s s N R
H Do —
mwartar k1 Brackst x1 M10eL 40 Bt combination x4
A pS A pS
e N N )

%2 I =

— -
EE== B o
M3 Bolt x2 Pasitive DC connectar x24 Poaitive DC pin contact x24 e .
P, Y Megative DC connactars ,;gz:} \_Megatie DC pincontactx24 ] Arenkey >t
.,
s ™

I

Diocuments WWi-Fi dongle (Opticnal)

Mounting the inverter on the wall

1. Use the bracket as a template for marking the position of holes with a level and marker.
2. Drill the four holes with a ®13 drill.
1. Depth: at least 65 mm.
3. Hammer the M10x80 expansion bolt into four holes.
1. Screw in the nut firmly with socket wrench.
Note: Screws used for installation on the wall are not in the accessory box. Please prepare them in

advance.



1 | | | 1 =
[ l 1R L 1 . | ! 1 I Eaﬂy_‘r o
e e T
0 [2] -
N J

Lift up the inverter.
1. Two methods are available by four installers or lifting ring
5. Hang it onto the bracket.
6. Fix it on the wall bracket with M8 bolts. ( Torque: 7.0-8.5 N-m)

Mounting the inverter on the stand

1. Use a bracket as a template for marking the position of the holes with a level and marker.
2. Drill the four holes with a ®12 drill.
3. Screw in the M10x40 bolt into holes.

1. Tighten it firmly with corresponding socket wrench.

1

.
Lift up the inverter.

1. Two methods are available by four installers or lifting right
5. Hang it onto the bracket.
6. Fix it on the stand with M8 bolts.(Torque: 7.0-8.5 N-m)




Grounding connection

1. Select 35-70 mm? ground conductor and OT copper terminal
1. Strip the insulation end of cable with proper length

2. Pull the heat-shrink tubing over grounding cable

3. Insert the stripped section into OT terminal.

1. And crimp with crimping tool

A=B4{2~3mm)

N
Pull the heat-shrink tubing onto crimped section of OT terminal

1. The tubing must be at below stripped cable section

2. Use hot-air blower to shrink it so that they are in firm contact with OT terminal
5. Connect the grounding cable to grounding point on the inverter

1. Tighten it with torque 7.0-8.5 N-m

s N

| = F — !

. @
.

Grid connection

1. Select the appropriate OT terminal and 70~240 mm? copper cable
1. Use wire stripper to strip the insulation layer of the AC cable end.

2. The stripped insulation layer shall be 2-3mm longer than “D” part of OT terminal as shown below.



Note: The “Delta Grid” in “Setting™"Grid Protection”- “FunctionChoose” is set as “Enable” in default.

In this condition, the Neutral wire is not required to be connected.

Please set “Delta Grid” to “Disable” before connecting the Neutral wire for 40 kW-70 kW / 80 kW-125 kW

inverter.

40 EW-T0 KW/ B0 KW-125 KW inventer

(

136 KW- 150 KW imverter

\

A<260 mm
B=150 mm

A<260 mm
B<150 mm

L1/L2/L3/N
albIl | J

asdbmm D
12 B=b=15 mm

L1/L2/L3/N
2| t]( O ]
a=45 mm |.'E>|

Pull the heat-shrink tubing over AC cable.

1. Insert the stripped section into OT terminal and crimp with crimping tool.

2. Pull the heat-shrink tubing over the crimped section of OT terminal.
3. Use hot air blower to shrink it so that they are in firm contact with OT terminal.

4 ™
/
.
S0KWT0 KW / 80 KW-125 KW inverter
\-9 136 KW-150 KW inverter e Y,

Un-install the screws on the cover to open the cover of the wiring box.

1. Use utility knife to cut out the pagoda type protection ring in accordance with the whole cable size,

2. Put the AC cable through the pagoda protection ring, and connect it to the AC terminals L1, L2, L3 and N

in turn, and tighten it with torque wrench (with the torque of 25-30 N-m).

3. Re-install the cover of wiring box with the torque of 5~7 N-m.



40 KW-70 KW/ B0 KW-125 KW invener 136 KW /150 KW inverter

-
I|
l
I I|
L -
LA *
+[ ]
|, g Separate PE cable Multi-core cable Sepamute PE cable Multi-core cable |
_/,
PV connection
Disassemble the DC connector
': | ™
I - Strip the PV cable insulation
p : f mm
3 | ] I
0= = = B | e
Positive DC connector sy Posilive pincontact Positive terminal Fastening head : l:-
. — ) — / 1
(I — @a_;:_@ 'E | Cable size: 4-6mm2
e - 2., Chmm
wuli\': DC connactor Negative pin contact Negative terminal — Fastening head ia
RN . A
__\

./_ Puasitive DC
PV pin contact .~

I ] = \.'. S —

\\.

Pllhlll\ & terminal

"""""""" T\.-Lilui-l'}f'_'_'_'_'__'_'_

PV pin contact - Y "LJlI\-" terminal
|

AN © f'lm'lpprn (Torque: 3-4 N-m) TII.hL'"n the fustening hudy

Connect the PV cable to the corresponding PV port

r N

p -~

Communication connection

1. Select 0.5~0.75 mm? twisted-pair and strip the 20-pin communication insulation
1. Insert the insulated cord end terminal into the cable end 20-
2. (ENY0512 nylon terminal for 0.5mm?2/22 AWG conductor;
3. ENY7512 nylon terminal for 0.75 mm2/20 AWG conductor)



4. Clamp with terminals press clamp

e A
{ \
| 20-25mm 12-14 mm
_ %
= —
= F
o %
A W =
o t
\ |
AN S
Disassemble the communication terminal
1. Set the nut, claw, seal body, seal ring and body on the cable
3.
r'/ A
.E — [ 4 10
S S
s
8 Body, Seal ring, Seal body, Claw, it
I|I 1)
\. J

Insert the tube type terminal into the housing according to the label

1. Push the terminal-inserted housing into the body; you will hear “Click” , if it is correctly inserted

2. Please check the following table for more details about corresponding Pin definition

f/ -\‘-
—
= —
l'\\ B Housing /"l

Communication connection



Port Pin Definition Remark
1 RS485A IN+
2 RS485B IN-
S-485-1 8 RS485 IN-GND Inverter RS485 networking or
4 RS485A OUT+ connect the data collector
5 RS485B OUT-
6 RS485 OUT-GND
7 RS485A METER
8 RS485B METER
10 COM_GND
11 DRM1/5
12 DRM2/6
13 DRM3/7
DRM 14 DRM4/8 Reserved for DRM
15 RG/0
16 CL/0
21 Digital IN+
DI Input digital signal
22 Digital IN-
29 Digital OUT+
DO Output digital signal
30 Digital OUT-

1. Push the seal body into seal ring, then push the claw

1. Clockwise tighten the nut with torque 8+/-2 N-m

2. Keep the buttons on both sides pressed and then connect it to the communication port on the inverter.

You will hear

“Click” if it is correctly connected




o

S

Monitoring connection

« Monitoring Cloud is an application that can communicate with the inverter via Wi-Fi/LAN/4G. It can realize
alarm query, parameter configuration, daily maintenance and other functions. This is a convenient
maintenance platform.

« Plug Dongle into “USB” port at the bottom of the inverter. After the DC side or AC side is powered on, the APP

and inverter can be connected. Please refer to the corresponding manual for details.

» Wi-Fi connection
WiFi dongle connects to a local network within 50 m of the installation to enable access to the Monitoring Cloud

platform.

- -

Maonitoring
Cloud

. Eﬂ]h o )))

' o
")) l\ o0 LJ/II
Router

« LAN connection
If Wi-Fi isn’t suitable, the LAN dongle enables users to connect to the network via an ethernet cable. Ethernet

allows for a much more stable connection with less interference.



. . . onitoring
o = Cloud
R )

| 0DCo) '}
A A

Router

Monitoring connection

4G connection
4G dongle allows you to use a 4G connection to monitor your system without the option of connecting to a local
network. (This product is not available in the UK)

v ¥ Ty
- |I||

s A

Wil @ L= 8]

1l

« Basic setting
Basic settings can set the time, date and language.

« Advanced setting
Advanced settings can set “Safety”, “System Switch”, “PVConnection”, “Active Power Control”, “Export
Control”, “Reactive Power Control”, “Grid Voltage Parameters” “Grid Frequency Parameters”, “Grid Through

Parameters”, “Check Parameters”, “Reset”, “Communication Parameters” and “New Password”.



Advanced

Date Time Safety
System Switch
2021-12-2917:04 Save
PvConnecticn
Language

Active Power Control
Language Export Control
English i Reactive Power Control
Grid Valtage Parameters
Grid Frequency Parameters
Grid Through Parameters
Check Parameters

Reset

Communication Parameters

Mew Password

Documents / Resources

SOLAX POWER X3 Forth Solar Power Inverter [pdf] Installation Guide

X3 Forth Solar Power Inverter, X3 Forth, Solar Power Inverter, Power Inverter, Inverter

References

» User Manual

Manuals+, Privacy Policy



https://manuals.plus/m/512e1f31b1f1b8892368f36c80724c1ff8bfee69281056661b2b4c179f95b653
https://manuals.plus/m/512e1f31b1f1b8892368f36c80724c1ff8bfee69281056661b2b4c179f95b653.pdf
https://manual.tools/?p=11149050#MTA0LjI4LjIwMi4xNzk7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	SOLAX POWER X3 Forth Solar Power Inverter Installation Guide
	SOLAX POWER X3 Forth Solar Power Inverter
	Packing list
	Communication connection
	Monitoring connection
	Documents / Resources
	References



